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39.723          42.673          45.624           48.574          51.525 
41.198          44.149           47.099          50.05           53 

 
Nodal solution  
Step = 1  
Sub = 10 
Time = 40 
Temp    (avg.) 
RSYS = 0  
Smn = 39.723 
Smx = 53 

May 27: 2017
        22:57:07

35.812        40.299        44.785        49.271        53.757 
38.055        42.542         47.028        51.514       56 

 
Nodal solution 
Step = 1  
Sub = 10 
Time = 40 
Temp    (avg.) 
RSYS = 0  
Smn = 35.812 
Smx = 56 

May 27: 2017
        23:07:57



35.392           39.971         44.551          49.131          53.71 

 37.682         42.261          46.841           51.42        56 

 
Nodal solution 
Step = 1  
Sub = 10 
Time = 40 
Temp    (avg.) 
RSYS = 0  
Smn = 35.392 
Smx = 56 

May 27: 2017
        23:16:06

 
 
 
 
 
 
 
 
 
 
 
 
  

36.74           41.242         45.744         50.247          54.749 
38.991          43.493         47.995          52.498       57 

 
Nodal solution  
Step = 1  
Sub = 10 
Time = 40 
Temp    (avg.) 
RSYS = 0  
Smn = 36.74 
Smx = 57 

May 28: 2017
        09:06:23

 
Nodal solution  
Step = 1  
Sub = 10 
Time = 40 
Temp    (avg.) 
RSYS = 0  
Smn = 36.53 
Smx = 57 

36.53           41.079          45.628         50.177          54.726 
38.804          43.353         47.902          52.451        57 

May 28: 2017
        09:36:21

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

35.358        40.168        44.977        49.786        54.595 
37.763        42.572        47.382        52.191       57 

 
Nodal solution 
Step = 1  
Sub = 10 
Time = 40 
Temp    (avg.) 
RSYS = 0  
Smn = 35.358 
Smx = 57 

May 28: 2017
        11:38:48

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

32.851         37.996          43.14          48.284          53.428 
35.424         40.468         45.712         50.856         56 

Nodal solution 
Step = 1  
Sub = 10 
Time = 40 
Temp    (avg.) 
RSYS = 0  
Smn = 32.851 
Smx = 56 

May 28: 2017
        11:47:12

 

36.736         41.239          45.742         50.245         54.748  
38.988          43.491         47.994         52.497        57 

Nodal solution 
Step = 1  
Sub = 10 
Time = 40 
Temp    (avg.) 
RSYS = 0  
Smn = 36.736 
Smx = 57 

May 28: 2017
        12:25:24
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